Answer key

ISRO SATELLITE CENTRE
Answer key of the written test for selection to theost of Library Assistant
held on 13-11-2016
(Advt. No. ISAC.02:2016 — Post No_:LAQ)

| Answer Key |
| SeriesA || SeriesB || SeriesC || SeriesD |
Question | Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
L 01 | A J 01 | D J| 01 | B || 01 | B |
| 02 | C || 0 | D J| 0 | B || 02 | D |
| 03 | B | 0 | B || 0 | C || 03 | A |
o4 | B | NN @ o« | A || o4 | C |
L o5 | ¢ Jj| o | B || 0 | € || o5 | B |
L o6 | A || 0 | B || 06 | D || 06 | B |
L or | ¢ Jjo | b J|lor | D J|lor | B |
. o8 | A || 0 | A || 08 | C || 08 | C |
L 0 | A J] 0 | A J|l 0 | B || 0 | C |
| 10 | B J| 20 | ¢ J| 10 | B || 10| D |
.1 | b j| 11 | b J| 11 | Db J| 11 | D |
12 | A J| 12 | B || 12 | D || 12 |AoB]
| 138 | D J| 18 | A J| 18 | B || 18 | D |
| 14 | D | 14 | A J | 14 | A || 14 | C |
_ 15 | D | (NSNS | 5 [ D || 15 | C |
| 16 | B || 16 |AoB | | 16 | C || 16 | A |
17 | c J| 1w | B J| 17 | D J| 17 | D |
18 | D [ 18 | c | NESENENSN 18 | C |
| 19 | ¢ J| 2 | B || 19 | B || 19 | B |
. 20 | B J| 2 | D J| 2 | D || 2 | D |
21 | A J| 22 | D || 2 | D J| 2 | B |
L2 | A || 22 | ¢ || 2 | B || 2 | A |
. 28 | B || 28 | B || 28 | D || 28 | B |
| 24 | B || 24 | D || 24 | B || 24 | A |
2 | c J[ 25 | A | SN > | A |
BEGN > | o | [ 26 | A || 26 | B |
. 27 | D || 2 | B || 20 | D || 27 | C |
| 28 |AoB| | 28 | C || 28 | D || 28 | C |
. 29 | B || 2 | B || 2 | B || 2 | B |
30 D 30 B 30 C 30 D
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Answer key

Series A Series B Series C Series D
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
. 1 | B J| 3 | D J| 3 | B || 3 | B |
| 2 | b J| 32 | B || 3% | Cc || 3 | A |
. 8 | B || 38 ] ¢ || 3| B || 3] C |
. 34 | D || 3 | ¢ || 3 | B || 34 | D |
| 3% | € j|. 3 | A || 3 | C [ 3 | B |
| 3% | C || 3 | C || 3 | B || 36 | A |
| 3 | B || 3 | B || 3 | D || 3 | B |
| 38 | A || 38 | C || 38| C || 38 | D |
| 39 | B || 3 | B || 3 | B |J[3 | B |
| 40 | C || 40 | D || 4 | C || 4 | D |
BN | 4 | D || 4 | D [ 4 | C |
| 42 | D || 42 | c || 42 | D || 42 | C |
. 4@ | b || 4 | c || 4 | B || 4 | B |
. 4 | A || 4 | D || 4 | D || 4 | B |
| 4 | D || 4 | B || 4 | B || 4 | B |
| 46 | Cc || 4 | c || 4 | B || 4 | D |
47 | B || 4 | A || 4 | A || 4 | A |
| 48 | C || 48 | D || 48 | B || 48 | D |
| 49 | C || 49 | B || 49 | A || 49 | B |
| 50 | D | 5 | B || 5 | B |5 | C |
| 51 | B || 51 | B || 5 | D || 5 | D |
| 52 | D || 5 | A J| 5 | A || 5 | B |
. 53 | B || 85 | Db | [ 8 [ A | KN
| 54 | B || 5% | A || & | C || % | C |
| % | b J| 5% | ¢ || 8 | ¢ || 5% | D |
| 56 | ¢c || 5% | D || % | C || 5 | A |
. 57 | B || 5 | D || 5 [AaB| | 5 | B |
| 58 | B || 5% | ¢ || s | A || 58 | D |
| 5 | Db [ s | B [ 5 | c | IS
. 60 | B || 60 | B || 60 | A || 60 | D |

Answer given in Y ellow colour indicates the change in Answer

X - Question cancelled
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